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To convert from exponential form to logarithmic form and vice versa:
Exponential form Logarithmic form — /0
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Come. 4o escp, Fomm —2 X= L7
1. log,1=0
/aﬁb% =Y

| =%

3. 10&16=2 4 1023
/é = Z?‘Q L_ =3

i 3 o
5. 10° =1000 = 7. 4 =64 8 1253 =5
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9. log,64 - N4 10. log,81 = 11. log, 256 = L\
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Solve a Logarithmic Equation

12 109,41:% 13. log, r=% 14 logmw—%
_ ) sS_,
LI[% = X (7\::% =X )é; >
i (7 =% 6> =X
V> =x
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Property of Equality for Logarithmic Functions

15. log. @x+ -B: logS(Tx— 8)

Y= Ty =%
Y= Uv-9
| 2= 4x

16. log, 50 = 10g3<6x — 4>
50 = bx-{
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17. log, Qx —9)1 log, Q\ + ‘*D

-9 & Yy +3
—7 & 2x 1D
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18. log, 38 < log3<5x
SY<dSX +3
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